60m MU L 7OMMU T DT

BREISY

20234F9 A 15 H HifE

B ¥a-7" V-1 9V TR

ISIA-FTIVBEREE AB—BE—8

1. AB—R&—8X [ |- covayccasLasmscd.

B—AABTTEIDPORER | FTEeOABR—RZICERREE—BED5 5008 FHA) =&
RIAABTIREIPDOREER | FELDAB—BEZICENABZ—EE 70000, BREE—HRD1,

1 0 O5H (Fd) ZN0&

5B Faeafll BRI Rl 1S IRTEA BA
5 5| D257 | C251F | B25<T | AF«(T | ES1T | B191T | C1894F | D151T |5 5
B\ mo 2LDK 1LDK 1LDK 1LDK 2LDK 1LDK 1LDK 2LDK |E B D
BEIMH| 1993 15.631F 14.858¢ 14.708¢ 21.008F 14.8414¢ 15.658¢ 2014%F  |BEHEH
BEBE| 6590m 5167m 4911t 4861n 69.45nt 49.06nt 51.74nt 6659 |BEEE
B = 15% 16= 16= 16= 156= 156= 16= 14= B =
1 Ok 1 Ok
1807S%(18068= 180359
18 ) 1 8H
. 321675 | 318357 e "
170255
17k IREBAD 1 7R
3401750
160 s 160
15075 =F= | S=
150 7 T T 10025% 158
31217m 3.35475H
140 £ Wb 148
30597M
1306S=
129 129
1 3R 30295 1 3k
120 120
115 1168
10065=
108 ot 108
2.880731
Ok Ok
8 8
7R 7R
610SE
6k | XA 65
36735
SR SR
AR LZ+5Y AR
3k Kisis (&) | IOYY1 IR | Xisig (B 3k
28 HAZAX=2 (O5T)L—A. PRUIH) 2
1B HEZA-2Z (@E— 59YY. 5AT5U-%) 1B

2. BEEBTEMN [5~1 9]

D2 "
= €
7 c2
1A

Btb
 lesel
e EV1|-
E
[N
fl A
D1
2 B1 | Cf

mIRAl %8 - IRTER

3. CABEETICHEIWNWNEE<ER

® AB—i5%
LRDOAB—FE-BEXRECSRIIES),

© BREE-EE

FEEDAB—BROENICRREEBE—FEE LT,
HB—AESE 5 0HH FHA) BIMETT,

@ EBIAB—EE

BZATTABEINDHBEL. LELOAB—IBEDEDIC
BIAB—EEZELTT 0 0SB EERR ANESNE T,



80mM EDT3

80mISY

o2V

VEBRE AB—iGE—

202349 A 15 A BLLE

(Ek)*}\‘i“T AVARINVE W) NN

AB—BE—8% [ |- covaaocoasianss U<E80RTSVERADEETTY,

B—AABTTEIDPORER | FTEeOABR—RZICERREE—BED5 5008 FHA) =&
“AABTCREIPOREE | FEeDAB—BEZICENAB—EE 572100, BREE—FRD1,

1 0 O5H (FA) ZN&

SR ravEfl BEREEA FERAl %5 TR BB
5 5| 2517 | c254F | B251T7 | AS1T | ES1T | B151F | C181F | D151T |5 5
E D 2LDK 1LDK 1LDK 1LDK 2LDK 1LDK 1LDK 2LDK |E B D
BEMH| 1993F 15.634F 14 854 14708 21 008 14.841F 15.658¢ 20141F  |BEIEH
BE®EE| 6590nt 51.67m 4911 4861m 69.45mi 4906 51.74m 6659 |BEBE
B = # 16= 15% 15=% 15=% 15=% 15=% 15=% 14= B = #
190k 100
1807S=|18068= 18035
180 ‘ 1808
B 26285 | 260150 19&;55%% &
170052
70 EG
2.7801H
168
T50/2=[16065= 156028=
150 " XM=
: T | Ae 27417
P
1488 T MR 14k
2.5007H
130 18065= 138
247675
120 120
115 1108
TQQ6S=
1008 SN & 1008
2.35410H
o o
8h 8hk
Th 7h
6 B}:b b 1 L\)-.sq]g 6 Bt&
=] =]
tSoamit
5k 5k
418 LZ5Y 418
30 R (&) | IOYYA( 2= | K65 (Bt 3k
208 HAZN—2 (DS5TN—L, PRUTH) 20
15 HAZN—2 (OE—, 59V, 51T5U=%) 15

2. BEEBTEMN [5~1 9]

D2 "
= €
7 c2
1A
Btb
 lesel
5 EV1|-
E
[N
fl A
D1
2 B1 | Cf

mIRAl %8 - IRTER

3. CABEETICHEIWNWNEE<ER

® AB—i5%
EROAB—RHE—ERECSRIES.

@ RREE-NT
FEEDAB—BROENICRREEBE—FEE LT,
— A% 5 5 0B HHA) BIMETT,

® EJJI]?\% &

_ATCABENBHEEIE, LEEOAB—BEROEDIC
QDD?\% R LTS 7 208 EERM%) ANIESNET,




